1. (12 points)
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(a) Find the equation of the plane that goes through the three points (1,2,5), (2.2,2). (3.3.3).

§ o - 'I;’ |
ISR T wd
{ £ # - ~ N
{ '{ 7~ e | (' 4) - ™ - \'\ ..:.x wn et ol N2 g (’ o) ; "{
3 | J Y i '\ o 5
i i y
i o= L3, -4 17 € cheek dob prdud
.Nf 4
' §
/ [ R - !
;' e W N ‘
g & " !
L 2 (x-N=%ly-2) %+ (2-35)=0 |
& o 4 i
! ”\ b pd rend ‘,‘(\; ot 7
Fals 0 e A i
i
H
~ . Pl i
SX = 3 ~2u 4Bz -5 !
.‘ - i
\ |
' i
i i
v Ly} e “
i N WA o ;,_.,g. ul e :‘;’ 3 “
{ Ky 3 Lo i
| -t i
i &‘}

=<1o—1>

)
(b) Find parametric equations for the line of intersection of r—z=l0andr+y+2z=10
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